
PARTS LIST / LISTE DES PIÈCES / LISTA DE PIEZAS

Residential Use Only Made in China / Fabriqué au Chine / Hecho en China

*  Replaceable Part

DESCRIPTION / DESCRIPCIÓN :  Outdoor La�ce Back Sofa / Canapé extérieur / Sofá trasero a cuadros al aire libre
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D476-703

x1 Sofa Leg
x1 Jambe de Sofa
x2 Pata de sofá

x11(Extra 1) M6*25mm Bolt *
x11(Extra 1) Boulon M6*25mm
x11(Extra 1) Perno M6*25mm

x1 Left Arm Panel
x1 Panneau du bras gauche 
x1 Panel del brazo izquierdo 

x1 Right Arm Panel
x1 Panneau de bras droit
x1 Panel del brazo derecho

x1 Seat Panel 
x1 Panneau de siège 
x1 Panel de asiento 

x1 Back Panel 
x1 Panneau arrière 
x1 Panel posterior 

x3 Seat Cushion
x3 Coussin de siege
x3 Cojín del asiento

x3 Back Cushion
x3 coussin de dos
x3 Amortiguador trasero

x15(Extra 3) M6 Washer *
x15(Extra 3) Rondelle M6
x15(Extra 3) Lavadora M6

x1 M6 Allen Wrench *
x1 Clé Allen M6
x1 Llave Allen M6

x4(Extra 1) M6*15mm Bolt *
x4(Extra 1) Boulon M6*15mm
x4(Extra 1) Perno M6*15mm

C

D

E

G

H

J

K

Page 1 of 4

F

I

B



 

Step1 Step2

Step3 Step4

I

J

K

DESCRIPTION / DESCRIPCIÓN :  Outdoor La�ce Back Sofa / Canapé extérieur / Sofá trasero a cuadros al aire libre
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D476-703

A

C

J
IK

K

H

J

J

I K

B

C

A

B

A
C

E

D

B

A

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

Residential Use Only

*  Replaceable Part

Page 2 of 4



 

Step5 Step6

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

Residential Use Only

*  Replaceable Part

Page 3 of 4

DESCRIPTION / DESCRIPCIÓN :  Outdoor La�ce Back Sofa / Canapé extérieur / Sofá trasero a cuadros al aire libre
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D476-703

G G G

F F F

J

I
K

B

AC

E

D



 DESCRIPTION / DESCRIPCIÓN :  Outdoor La�ce Back Sofa / Canapé extérieur / Sofá trasero a cuadros al aire libre
ITEM NO. / ARTICLE NO. / ARTICULO NO : DS-D476-703

Page 4 of 4 Made in China / Fabriqué au Chine / Hecho en China

REPLACEABLE PARTS / PARTIE REMPLAÇABLE / PARTE REEMPLAZABLE

x1 RDS-D476-703-HWKIT - Hardware Kit * 

                                              Liste des pièces de quincaillerie
                                              Lista del kit de materiales

Residential Use Only

*  Replaceable Part


	页 1
	页 2
	页 3
	页 4

